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Question” No. 1 is Multiple choice type.
Answer any 3 parts out of 5 parts. Each-
part is of 2 marks. 2 x 3 =6 Marks
Question No. 2 is Very Short Answer type. .
Answer any 2 parts out of 5 parts. Each
part is of 2 marks. 2 x 2 = 4 Marks
Question No. 3 and Question No. 4 are
Short Answer-] type. Answer any 2 parts
from Question No. 3 and answer any
2 parts from Question No. 4. Each part is
of 4 marks, 4 x4 =16 Marks
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Question No. 5 and Question No. 6 are
Short Answer-II type. Answer any 3 parts
from Question No. 5 and answer any
3 parts from Question No. 6. Each part is
of 10 marks. - 10 x 6 = 60 Marks
Question Nos. 7, 8 and 9 are Long
Answer type. Answer any one question
from these. Each question is of 14 marks.

14 x 1 = 14 Marks
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A wfe o f(x)=3x FRT IR
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iv) f T Tl ¥ AR T ArBEF ¥

g fﬂv_«j W@ Jy=x+1.,'a$

Y odx BTN ?
Doo(1L,2) i) (2,1)

i) (1,-2) i) (-1,2).

The degree of differential equation

d?y dy dy) .
[d;&z] + [dx) + sm(de +1=0

is
i) 3 . 2
i) 1 iv). not defined.

tan™! J_g—,sec‘l (-2) is equal to ‘
i) T n -

i) = iv)  2m
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Integral J. — is equal to
1 1+ x?
. T .. 2n
1) 3 11) 3
7T . T
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Suppose  that the function

f:R—> Ris deﬁ&ed by. f(x)=3x.

Then K\Q

i) fis ong%rne onto

ii]. fi \any-one onto

111} f% one-one but not onto

iv)  fis neither one-one nor onto.

'~ On which point the line y=x+1 is

tangent to the curve y2 =4x?
) (1,2) i) (2,1)
i) (1,-2) v (-1, 2).
fag TR TR wgeE 1,2, 31
R=1{(1,1),(22),(33),
(1, 2),(2,3)}
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x,yﬁ?ﬂzé?qﬁiﬂﬁﬁéf:?ﬂl
A 2p(a)=P(B)=3 ¥ PA/B)=%
& PlAUB) 1 TF I T

A A .
W a =i -2 +3k 3
b=31-2)+k HduE I

FomW I -
Prove that in set { 1, 2, 3}, the
relation given by '
R={(1,1),(2,2).(33),

- (L2),{2,3)]
is reflexive, but neither symmetric

" nor transitive.
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From equation

2
Fmd the value of IM dx.

CGSELQI

x+y 2 6 2
[ 5+ z xy] [5 8] find the
values of x, y and z.

If 2P(A)=P(B) = G and P(A/B)=
then find the value of P(AU B).
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Find the angle between the vectors
4 M Fal fat
a =1 -2 J+3k and

¥ A ) )
b=3i-2j+k.

A sin! x + tan ' x =2, @ g .'

po|

ST fF 2x2 +1=4/5.
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A | a | #0b | 20 R

la+b 19| a—-b|® R fr arkw |

a o b TR o E
feamgy o Togait (4,7, 8), (2, 3,

4}
¥ deC oW ae Y@, feget

(-1,-2,1)&X (1,2,5)9
F arell TET % gHRR E

|

If sin™! x + tan™! x =-g~, then prove

‘that 2x° +1=45 .

Find the differential equation of
that family of ellipse whose focus
15 on the x-axis and centre is at
the origin.
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—} .
(f|a|#0,|b|#0and
-5
la+b|=

—F
the vectors a and b arc mutually
perpendicular. |
Show - that the line passing
through the points ( 4, 7, 8 ),
(2, 3, 4 ) is parallel to the line
passing through the points
(-1,-2,1)and (1,2,5).
sin x % log x % HUE 3FFehord TOT
T AT |
el 1 @ 11 @ H §-F PO
el g ST ¥ AT g A WA E
@ wiwsar Fa St e S g

| ;}’, 3 |, then show that
—

- feEy 6 weH f(x) = x2 +3x+5,.

x=1 T Had & |

T 3t

x+y<4-

x=0 |

y 2 0 % 3=1a

Z=3x+4y W algegy [ea #G
AU |
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Find the differential cocfficient of
sin x w.r.t. log x.

From integers 1 to 11, two integers
are selected at random. If their

sum 1s even, then find the-

probability that both the integers
are odd.

Show that the function

flx)= x? +3x+5, is continuous

at x= 1.

Under the .fOH%
x+y<4 NS
-x=20 \QQ’”

y=20 @Q

find & maximum - value of
Z=3x+4y.

RISl T eig e
flx) = 2x3—3x%—36x+7
ﬁﬂﬁﬁWf{i]HW[ii]W%i .

constram ts

1 1‘+‘b 1 :abC(1+E+'E+F
1 1 l+¢ ‘
e il fe

13 177
sin” ! !Ef‘_{_-w sin”! 3 = Ll E{;
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P+l dx mnﬂmﬁaﬁmt

I 2——*)X+6 e a
ﬁﬁ_nﬁqz;—(:m:{amsﬁrﬁﬁ‘ﬁ%’i
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e & & A 81 3R A% g
B @ e i e S €1 T

29 wgear Fa g |
a5h y=¢os{x+y}, -2n £ x £2n ﬁ
@I x+ 2y = 0.%F GAFR €|
- Find the interval in which the.
function f(x] 2x3 - 3x2% - 36x+7
is - ]
() increasing (i) decreasing.
Prove that
fl+a 1 1 1 1
1 1+b 1 =_abc[1+_ = _1_)
1 1 1l+¢ a * b'+ c
Prove that
=1 8 3
SIn™ = +sin"! 2 oan-1 77
17 5 36
Find th . 2
ind the value of I 23&, +1 dx.
- X" ~Jx+6
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Ina bag A there are 4 red and
S black balls. In another bag' B
there are 6 red and 3 black balls.
One ball is taken out from A and
transferred in bag B. After this one
ball i1s drawn from bag B. Find the
probability of that to be red.

Find the equations of the tangents
to the curve y=cos(x +y},

-2n £ x £ 2n whlgq are parallel to
the line x + ngi@

TH x2 -4§® WT@T
x= 4y§§?rfm mnw&#:rcrﬁ
I ST |

AefE fag grn e sl F

FiATl |

x +2y=10

3x +4y< 24

x 2 0,y= 0 |

U Z =200x+ 500y N RATH T
T whiTw | -
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¥)  alg Adu B3 @aT HeA0 € @t fag
g 7 A @1 B/ o @ mem
i |

T) W r.(i4)4+k ) =6 @R
- A A A o
T (2i+3j+4k)-5=0 %
HaBT AR g (2,2, 19 TR
mwwaﬁwmm

whifva |

o AR PR F ez
R={{a,ble ZxZ: (a—b), 59
I & ) SR e ey g,
R T Jo0al = & o

6. &)  Find the area of the section
enclosed between the curve

L2 '
X" =4y and straight line
x=4y -2 .
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Solve the following linear
progranuming problem by graphlcal .
method  under  the fcilowmg
constramts :
x +2yz10-
3x +4y< 24
x =2 0,yz 0

Find the minimum value ‘of

Z =200x + aOOy
Find the gener%l\&mlutmn of the
dlfferen tial @‘aﬂon

+2%§Smx
Prove that if A and B are
independent events then A& B’
are also-independent ¢ events.
Find the vector equation of a_
plane, passing through the

1ntersectmn of the planes

- A

r.| 1+Jr'+k}=6 and

- A M N

r.(2i+3j+4k )-S5 =0 and the

point { 2, 2,1). '

If in the set of integers Z,
R={(a,be ZxZ: (a- b) is

divisible by 5 } be a given relation,

then is Ran Lquwa]cncc relation ?
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X+ y+z=6
X—-y+z=2
2x+y—-z=1
it atege fafu @ ger
_ <> =5 — )
iy 3K a, b, ¢ ﬁqgﬁw_tlfﬁlﬂl =
. - - >
TR EfR a+ b+ c¢c =0,

frg =ifore fa

e - - - o
axb=bxc=cxa.

_11]k3?fqﬁﬁ'iﬁﬁ—f\ﬁm?lﬁ¥ﬂﬁ

(k,0),(4,0)83R (0, Q}En?r
%ﬂawéatmr}avﬁré%]

Sulve the following system of the

‘equations by matrix method :

o xtytz=6"

324(EZ)
7. ®)
a)
7. a).
b)
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x-Yy+.z=2
2x+y-z=1
by matrix method.

. - = = _
i} If a, b, ¢ are three vector

quantities, such that

—» —¥ o
a+ b+ ¢ =0, then prove
—» — - —» —¥ -

that a x b=bx ¢ =¢ x ¢q.
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I*‘ilmi the value of k, if area of
Wangle with vertex | k, 0},
(4,0)and (0,2)is 4 square

ii)

unit.
8. F SN x
£ SIN X + cos x dx I = 3
ifT |
T o W ® g F e mem b
HIEET T mg\@%\an g |
8 a) Find the v of
T/2 ) Q
I - Su\g\x dx.
SIMY+ Cos X
0
b) Prove that ' the rectangle of
maximum area inside a circle is
square. : '
_ " 324(EZ
9. @) fExtiF vgsa admo A b
4 _
[x*y}a%=-’f"‘29 SARIIEIEER Y
FHIEHIVI § AT SHHRI & ST I Hifw |
) ) qie deh Jncg‘”'+1,ff“’f3'='c1‘1f3 T
Al x-3181 W @ I G §
df fem@Eu & wer  wnie
Y COS Q- XSINQ=acos2¢ g
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dy

S——
dxwm

. --1 E ~
i) a{g_ y:__x:-un X &,
T iU |

Show that the differential equation

. du - . .
(x - y}.&% = X + 2y is homogeneous

differential equation, .and find also
its solution. |
) If normal ‘to the

' xsza'_'+ yzﬂ’f:’ =a2i_3 makes an
angle ¢, with the axis of x,

curve

then show that its equation is

ycosg-xsinp=acos2p.

. =1, T -
i) If y=x%"" % then find 9Y
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